Botany  - Session 6
I. Plant Modifications

a. ____________________________________

i. Climb by means of _________ which are modified ________________

ii. Modified ___________________ - are slender and coil around a support structure

1. Tendrils come off of ______________

2. Ex. Grapes, Virginia Creepers, Boston Ivy
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iii. Modified ________________ - Slender and coiled

1. Tendrils come off the end of the ______________
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b. ____________________________

i. Sharp parts of the plant are ________________________________________________________

ii. Spines - __________________________________________


iii. ________________________________________

1. Ex. Hawthorns, Citrus plants

iv. Look for axillary bud to determine if sharp is from a leaf or a stem

v. Prickles - modified epidermis and cortex

1. Ex. Rose “thorn”, blackberries, raspberries

c. _______________________________

i. Function in _____________________________

ii. Function in _____________________________

iii. Ex. Stinging nettle - inject acetylcholine and histamines

1. Very painful, causes redness and itching

II. _____________________________

a. Also known as spiny plants that are ___________________

i. Xerophytic = ________________________________

b. Ex. Cacti - stems are modified for __________________________________

i. Spiny leaves are reduced to prevent ___________________________ ______________________________________

c. Have sunken stomata to reduce water loss

III. Carnivorous Plants

a. Characteristics

i. Trap insects on leaves or stem with _______________________________________________________
ii. Must have a _____________________________________________
1. Digestion is through __________________________________
iii. There are about ___________________ of carnivorous plants

1. ______________________________________________________________________________________________________
iv. Need to eat other organisms to make up for poor nutrition in soil

b. Active vs. Passive

i. Active - ________________________________________
1. Ex. Venus fly trap

ii. Passive - _______________________________________
1. If there is any movement it is slow

2. Ex. Pitcher plants, Sundews

c. Sundews (2nd largest) and Butterworts

i. _______________________________________________________
ii. When insect is struggling it triggers more release of sticky mucus and enzymes for digestion

d. Bladderworts (Largest Group)

i. _____________________________
ii. Aquatic or terrestrial

iii. When triggered by the insect a change in pressure causes the walls to inflate and suck in water and insect
iv. Insect gets trapped and plant secretes digestive enzymes

e. Venus Fly Trap

i. _____________________________________
ii. Modified leaves have spines along the edges

iii. ____________________________________
1. When a single trigger hair is stimulated ______the leaf will close

2. Or when ___ hairs are stimulated in succession the leaf will close

3. This system is to avoid closing for water drops or other false triggers

iv. Closing takes place in _________________________
1. Electrical stimulation causes differential flow of water to leaf causing the trap to close

2. To open the trap the leaf must undergo differential growth

v. Takes about a ________ to digest completely

vi. There is only one species in this genus

1. Native to North and South Carolina

f. ___________________________
i. Found in Madagascar, Indonesia, Malaysia, Srilanka

ii. ________________________________________
iii. Downward pointing hairs in pitcher allow only one way movement

1. Insects can climb or fall down the pitcher but hairs prevent it from climbing back out

iv. At the bottom of the pitcher ______________________________________________________
v. Larger pitchers are sometimes used for ______________________________________________________
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